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0 -1.122 TD

-0.012 Tc

0.086 Tw

(the hook comes in the form of the mechanics of thought and)Tj
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(simple for nouns-particularly ones with which we are famil-)Tj
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(for example.)Tj
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(when a geometrist attempts to communicate with an algebrist.)Tj
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(. But it is almost impossible to get anywhere)Tj
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(with mathematical thought as an algebrist. So how do we)Tj
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(be hitting close to the answer. The stress points of sentences)Tj
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(intrigue me. And the idea of linkage backward and forward)Tj

T*

-0.007 Tc

0.032 Tw

(seems obvious now that I think about it. These concepts do a)Tj
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(lot more for me in a concrete way than all the other writing)Tj
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(And it’s not a talent that some are given and some are not.)Tj
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(That’s a cop out! It may be easy for some and hard for others,)Tj
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(but we can all learn how to communicate...if we want to)Tj
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(use it, but you have to be somewhat of a disciplined archeol-)Tj
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(ogist to piece it all together. On the other hand, software that)Tj
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